
2014 год,
 30 октября,

четверг
.
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Число 
десять.
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                        N1.
  7 – 3=         2 + 5=           4 + 3=
  6 – 4=         6 + 2=           8 – 5=

.

  6 + 3=           3 + 4=             7 – 5=
  7 – 4=           3 + 3=              8 – 2=
  8 – 6=           8 – 7=              9 – 4=

  4 + 4 … 3 + 4               7 – 1 … 4 + 2
  5 + 2 … 5 + 3               1 + 6 … 7 – 2
  6 + 2 … 6 - 2                8 + 1 … 6 + 2

N2.



Что мы узнали?
Что повторили?



Оцени свою работу на уроке.



Наше настроение


